| Efficiency vs Dxy |

0.02¢
% : : : : :
© L . . . . .
QOB
> : : : :

@OL6 i

Q L : : : : :
R

=
(5]

0.004F--wverioreessdeo oo
0.002f+fereeriovddny

Ratio

Sotzf i
ook
o008
0008k

0

......................................

0.8

..................................

R A %
T S

................................

0_725 20 15 10 5 O 5 10 15 20 25

TP dxy (cm)

—— —V0001"R0O00000001—Global—]
—— DOM”V0001"R000000001" Global |

| Efficiency vs Dz |

—a— U§IVI VUUUL RUUDUUUOUL — GIoDdal

—__D

MKETI0000 _RECO
mKkFit1000 "RECO

mkFit1000ATime_RECO

—V0001~"R000000001Global——mkFit1000CTime"_RECO

—mkFit1000MTime_RECO

MZV0001_R000000001 Global
%0.02 :

20 30
TP dz (cm)

10




	Contents
	Page 1


